
Time: 10 Minutes Paper G. Science 8 Total Marks: 10

2nd Month, 1st Week, 5th Day Syllabus: Unit # 3: Transmission of characters

Q.No.1 Encircle the correct answer from the following choices. (0.5 <<<< 6 = 3)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX
i. The organism forms gametes by: MMMMgggg····....çççç

YYYY
EEEEEEEE''''××××''''''''ÆÆÆÆffffgggg))))

²²²²----....55554444
øøøø

YYYY

GGGGGGGG
HHHH

¯̄̄̄DDDD÷÷÷÷XXXX
(a) Meiosis òZz‹ (b) Mitosis âðI‹ (c) Cytokinesis ‚ç»ð&4lç E

GE (d) Both a&b ŠzâV b Zzg a

ii. The process in which number of chromosomes is reduced to half is called:

zzzz{{{{¿¿¿¿TTTT~~~~™™™™zzzzññññÎÎÎÎ''''××××ÅÅÅÅ®®®®ZZZZŠŠŠŠMMMMŠŠŠŠSSSSgggg{{{{YYYYCCCCììììBBBB@@@@****ìììì::::
(a) Meiosis òZz‹ (b) Mitosis âðI‹

(c) Cytokinesis ‚ç»ð&4lç E
GE (d) Interphase ZÚ|

iii. When a haploid (n) sperm cell fuses with haploid (n) egg cell then produce:

ŸŸŸŸÆÆÆÆ‚‚‚‚BBBBMMMMììììÂÂÂÂ¯̄̄̄@@@@****ìììì:::: (n) 4444xxxx−−−−ZZZZqqqq----333344445555ÕÕÕÕääää XXXXGGGGFFFFàààà (n) ZZZZ####ZZZZqqqq----333344445555ÕÕÕÕääää XXXXGGGGFFFFàààà

(a) Diploid (2n) cell −(2n) eöà (b) Both parents ŠzâVcÛ
(c) Diploid (3n) cell −(3n) R,öà (d) Siblings

_5Ò5¾
æ
E
EY
E

iv. ________is restored in zygote. ''''''''ÃÃÃÃiiiiZZZZ""""5555½½½½ðððð JJJJGGGG
YYYY

^̂̂̂~~~~ŠŠŠŠzzzz!!!!****gggg{{{{ôôôôppppHHHHYYYY@@@@****ììììXXXX
(a) DNA e~Z+Z} (b) RNA MgZ+Z}

(c) Sperm 4x (d) Somatic cell Îz−

v. The zygote develops into a full organism with specific characteristics from:

iiiiZZZZ""""5555½½½½ðððð JJJJGGGG
YYYY

^̂̂̂''''''''ÅÅÅÅººººmmmmSSSS::::]]]]ÆÆÆÆ‚‚‚‚BBBBååååYYYY0000++++ZZZZggggááááCCCCììììXXXX
(a) Single parent Œc.$ (b) Both parents ŠzâVcÛ
(c) Grand parents ¤/hcÛ (d) Siblings

_5Ò5¾
æ
E
EY
E

vi. Zygote is the _________ cell from which the life of an organism starts.

iiiiZZZZ""""5555½½½½ðððð JJJJGGGG
YYYY

^̂̂̂''''''''''''−−−−ìììì˜̃̃̃VVVVÐÐÐÐËËËËMMMMgggg····....çççç
YYYY
EEEEEEEExxxxÅÅÅÅiiii0000++++ÏÏÏÏÑÑÑÑzzzzqqqqƒƒƒƒCCCCììììXXXX

(a) First ª (b) Second ŠzuZ (c) Third ŠZ (d) Fourth aå
Q.No.2. Write short answers. (2 × 2 = 4) ¿¿¿¿ÎÎÎÎZZZZÑÑÑÑ]]]]ÆÆÆÆ����ZZZZ!!!!****]]]]KKKKXXXX
(i) In which process the number of chromosomes is reduce to half?

¾¾¾¾¿¿¿¿~~~~™™™™zzzzññññÎÎÎÎ''''××××ÅÅÅÅ®®®®ZZZZŠŠŠŠMMMMŠŠŠŠSSSSgggg{{{{YYYYCCCCìììì????
(ii) Name the first cell from which life of an organism starts.

¬¬¬¬−−−−»»»»********xxxxKKKKTTTTÐÐÐÐYYYY0000++++ZZZZggggÅÅÅÅiiii0000++++ÏÏÏÏÑÑÑÑzzzzqqqqƒƒƒƒCCCCììììXXXX
Q.No.3. Write long answer.                         (3) ----����ZZZZ[[[[KKKKXXXX
(i) Differentiate between halploid (n) cell and diploid (2n) cell. 

−−−−ÆÆÆÆŠŠŠŠggggxxxxyyyy����ÛÛÛÛttttzzzzZZZZãããã™™™™,,,,XXXX (2n) −−−−ZZZZzzzzggggeeeeööööàààà (n) 333344445555ÕÕÕÕääää XXXXGGGGFFFFàààà
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